MODEL TEST PAPER-2
CLASS-VIII (2024-25)

SCIENCE AND TECHNOLOGY

Time allowed : 3 hours Maximum Marks : 80

General Instructions:

1. The question paper comprises five sections — A, B, C, D and E.
There are 39 questions in the question paper. All questions are
compulsory.

2. There will be no overall choice in the question paper, but there will
be an internal choice in 1 question of Section B, 1 question of
Section C and 3 questions of Section D. Each case study question
in Section E contains 5 very short answer questions (VSA) of 1 mark
each, out of which only 4 are to be attempted.

3. Section-A consists of 20 objective type questions (Q. No. 1 to 20),
carrying 1 mark each. These questions are MCQs and Assertion-
Reason questions.

4. Section-B consists of 6 very short questions (Q. No. 21-26), carrying
2 marks each.

5. Section-C consists of 7 short answer type questions (Q. No. 27-33)
carrying 3 marks each.

6. Section-D (question number 34-36) consists of 3 long answer type
questions carrying 5 marks each.

7. Section-E (question numbers 37-39) consists of 3 source-based /case-
based units of assessment of 4 marks each with sub-parts.
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Section-A (@S- )

(Select and write the most appropriate option out of the four options

given for each of the questions 1-20).

(U9 1-20 ® ¥ weeh o fag fau o o fashedt § 9 9@ Suged fased
W T W AR feE)

1.

Symptoms like dehydration, vomiting, nausea and abdominal pain are

indicator of the following disease : (1)
(a) Tuberculosis (b) Polio
(c) Mumps (d) Food poisoning

freletianor, 3o, Haell iR U < 99 @ frefafead sEd &1 Gohd <
3

(a) e (b) iferat

(c) THUSHTA T I (d) foure s
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Dengue is a disease that can spread from one person to another through:

(a) Female Anopheles mosquito (b) Female Aedes mosquito (1)
(c) Rat flea (d) Virus

2 TH TH M ® W Uk A § @R Al d %d deadl 2
(a) WIS TAMGRiaS T=st 9 (b) A TSN H=R 9

(c) =®1 foeg @ (d) arRE 9

An archer shoots an arrow in the air horizontally. However, after moving
some distance, the arrow falls to the ground. The type of forces in this
situation are : (1)

(a) Magnetic force and electrical force

(b) Muscular force and gravitational force
(¢) Muscular force and frictional force

(d) Electric force and gravitational force

T e AfdS ®9 ¥ gl W Th dR HRAl €| geliih, 9 R WM
e, IR SHE W) IR S @1 3w feafd A el o g B

(a) gaHa o 3R fagga =« (b) T =& AR TTHETHY &
(c) WF sa R =¥ =« (d) foga o 3R ey oa

Identify the situation in which maximum frictional force acts : (1)
(a) rubbing of sand paper on glazed paper.

(b) rubbing of sand paper on glass table top.

(¢c) rubbing of sand paper on aluminium frame.

(d) rubbing of sand paper on sand paper.

3g feufa & Team FifE fSod sifusar o T+ #ar @
(a) THHhd EC wFE W g TR T

(b) ®E o Iod 9 W g TR TrEA

(c) THfmfm %H W de TR T

@ ¥ T W He TR TEA
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The correct option among the following is : (1)
(a) Amount of fuel = calorific value / total heat

(b) Total heat produced = amount of fuel x calorific value

(¢c) Calorific value = 1/total heat x amount of fuel

(d) Calorific value = ignition temperature x amount of fuel
frfafea & 9 @t fawen 2
(a) SoF T AGN = holld WH/PA HE

(b) SCUEd el S = o HI AGN x helldl AF
(c) oharl WM
(d) HARN AM

1/ ST x 39 I HAE

ST ATIHE x S Shl AT

A ray of light passing from one medium to another does not bend from its
path if- (1)

(a) its angle of incidence is not equal to zero.
(b) it is incident obliquely to the surface.
(c) both the media have different optical densities.

(d) it is incident normal to the surface

Th WA § SER WIEAH H S arell YRl H1 TR o9H Uy § Rl gedil

S —

(a) TEHT UG I YA o S TEl 2l
(b) IE Gag W fawer emufad = =21
(c) aF Hifew ¥ ster-stem siftewd e 2

(d) I8 98 W 9 ®9 9 ofufad g 2
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A small bulb is placed at the focus of a converging lens, when the bulb

is switched on the lens produces : (1)
(a) a converging beam of light

(b) a diverging beam of light

(c) a parallel beam of light

(d) a beam of three different colours

T Bl dod I AT oF o HHE W W@ SAl 8, 96 o9 H fE=

FE 9 IO B B—
(a) 9T i Tk AGERT fomor
(b) IHIRT HI Tk TOERT fwion

(c) 9hW®T i Teh HHMIAR Tohol

(d) T STeM-3Tel TN &1 Tk oo

To focus the image of a nearby object on the retina of an eye : (1)
(a) the distance between eye lens and retina is increased.

(b) the distance between eye lens and retina is decreased.

(c) the thickness of the eye lens decreases.

(d) the thickness of the eye lens increases.

TE & g% & Bfa H A@ w1 e W wHg wH F foau-
(a) i@ & o9 3R Yo o 9 * h 9@ Il 2l

(b) i@ o &g R e & 9 1 @ 9 = v« 2

(¢ %@ % o| # AR wW T A L

(d) *if@ @& of| &1 Al 98 S T
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10.

11.

Two objects A and B are vibrating with different amplitudes. Amplitude
of the object A is more than that of B. The loudness of sound produced by
Ais : (1)

(a) less than that of object B
(b) greater than that of object B
(c) same as that of object of B

(d) 1is independent of its amplitude of vibration

T a&qd A 3R B fafu= omami & Wy oA X W g 9% A H @M,
B #1 qorl ¥ oIfys ¥ A G S A H dod -

(a) ] B9 &H (b) o] B9 aifusk

(c) Bl =g o HHH (d) ¥ U o AW W WA §
The property not relevant to plastics is : (1)
(a) Non-reactive (b) Light in weight

(¢) Durable (d) Electrical conductivity

oe fig S wifes @ wEiE Ao

(a) R wfaferameia (b) oo H Twoh

(c) fehrsn ) sofsa sHeRifad

The group that contains all fully synthetic plastics is : (1)
(a) Nylon, Acrylon, Rayon (b) Nylon, Polyester, PVC

(¢) Cotton, Rayon, Bakelite (d) Acrylon, Melamine, Rayon

9t e food ufi fHofes wifes wibia 2

(a) AIAH, ke, W& (b) -G, WfeTuRR, drara

(c) =pUH, WM, dehelizd (d) Tfehedd, HeATHIEA, &M
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12.

13.

Organisms that arise from a small protuberance on the parent body by

an asexual method of reproduction are : (1)
(a) Plasmodium and yeast (b) Hydra and amoeba
(c) Hydra and yeast (d) Plasmodium and yeast

Al gorA fafy g go IR R TH BR ¥ SUR ¥ SO eF A
e -

(a) wTEHTETH 3R A (b) TTEE R aTefaT

(c) ®Eg R A (d) e R e

In the given group of organisms formation of zygote and the development
of the young ones takes place inside the body of the female. Select the

correct option. (1)
(a) Human beings, cow and frogs

(b) Hen, cat and elephant

(¢) Human beings, elephant and frog

(d) Elephant, human beings and cow

feu T el & e A gEAs &1 fEie SR st w1 fasm A o IRR
& 3T Bl ¢ Frefafed § 9§ @& fawey &1 =9 w-

(a) WIS, TE R Hew
(b) Ht, faeeht ok e
(c) WA, et iR Hew

(@ e, 7 R T
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14.

15.

16.

The secretion of these hormones leads to physical changes in the body
during adolescents : (1)

(a) Estrogen from testes and testosterone from ovary
(b) Estrogen from ovary and progesterone from testes
(c) Testerone from testes and estrogen from ovary

(d) Testosterone from testes and estrogen from uterus

T BEA o T 9 fRueten & R IR A wiife uRedd ek g
(a) IU0T U TR IR AeR™ ¥ SRR
(b) 3TENM™ ¥ TRISH 3 Iuur ¥ HFerdH
(¢) JUUT ¥ TEIEIH AR e 9 TSI

(d) g0 ¥ TEIRIA AR THvE ¥ TR

The menstrual cycle stops in a woman at about 45-50 years of age. The

woman is said to have reached : (1)
(a) Puberty (b) Menopause
(¢) Menarche (d) Adolescence

Sa Afge 45-50 99 1 B S § Al Wi oH 9ok &g ® Sl g1 39
RO H HE A B

(a) UM ORESUREL
ORESIENE (d) fweTRIeEen
Select the correct statement : (1)

(a) During electrolysis of water both the electrodes are made up of
graphite.

(b) During electroplating of copper on zinc, zinc rod is taken as cathode
and copper rod as anode.

(¢) During electroplating of copper, pure copper is taken as cathode and
impure copper as anode.

(d) During electroplating of silver on iron, iron is taken as cathode and
silver as anode.
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TAd HYd HT I hiSTI—

(a) UHl o SARIfAfTE o SNH SHl Soleeie UwES 9 od B el

(b) fSF W HW o TeR@ien o <NH, S Te & hadie I HW
Ue &l THE o &9 § foran wm@r 2

() HIR o IFNHREAT o A, Y§ d9 F holie X g e &l
e % &9 § foa S el

(d) @R W A oh SHHRIET o SRH, Wie I hefig 3 didl %l TS
& ®9 ° foan s 2l

Note : For questions 17 to 20, two statements are given—one labeled Assertion
(A) and the other labeled Reason (R). Select the correct answer to these

questions from the codes (a), (b), (c¢) and (d) as given below :

(a) Both A and R are true and R is the correct explanation of Assertion.
(b) Both A and R are true and R is not the correct explanation of Assertion.
(¢) A is true but R is false.

(d) A is false but R is true.

&M 2 : U S 17 9§ 20 & U ° wed ffu MU 8- uh # sfaemed (A)
IR T H HRO (R) WiHd 21 3 99 o fow e &Ko @ siE (a), (b), (o)
IR (d) ¥ & SW T

(@) A 3N REHA ¥ & 3R &R, AHed &1 9 e 2
b) A X RHA ¥ & 3R &RU, fwwed ®1 98 =ren T8 2

(¢ A ¥ T WfFd R o =l

(d ATad @ dfFT R 99 =)
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17.

18.

19.

20.

Assertion (A) : It is convenient to pull luggage fitted with rollers.

Reason (R) : Rolling friction is greater than sliding friction. (1)

AfTeRe (A) : U o WY o GEE w G gfause 2l
HAUT (R) : Ul oo wefen swor 9 eifus 2|

Assertion (A) : A frequency of one hertz means one oscillation per

minute.

Reason (R) : Sound of frequency one hertz cannot be heard by human

ears. (1)
afeRed (A) : ©F BN &1 oIgfa w1 waoe uid fAe wh e @l
HRUT (R) : T Too g &l A AFA &M g &l gt ST Fehdll

Assertion (A) : Synthetic fibers are not advisable to wear while working

in kitchen.

Reason (R) : Synthetic fibers have high melting point and form sticky
beads. (1)

MR (A) : WE H &H Fd 999 fgdfcd wER 9814 & a8 T8l
& SR

HRUT (R) : THofesd ®EaR &1 ToHi® 3=9 2l ¢ iR faufed @it s=m
2|

Assertion (A) : During the electrolysis of water, distilled water is used.

Reason (R) : Distilled water does not conduct electricity. (1)

AT (A) : UF o TR % N, BH A Sl 1 ST S
2l

FRUT (R) : feficees o fasiell &1 d=red A& &l o
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Section-B (@3-9@)

(Question No. 21 to 26 are S.A. I Type Questions)

21.

22.

23.

Arrange the following elements on the basis of their increasing reactivity
towards water. (2)

Potassium, iron, gold, magnesium

frAfafad il 1 9t o 9fd ST agdl Afafshamied! o SR W Safeerd
FfT—
OR ( 31Yar)

(a) Sodium metal is stored in kerosene. Why ?

(b) Write an equation to show reaction of sodium with water.
(%) wifesm urg & At & da o "ufead fran sman 21 =2
(@) UMt o 9y difeaw & gfaferan oA o fou e wHeo fad)

An empty paper cup catches fire immediately whereas a paper cup filled
with water does not catch fire easily. Why ? (2)

et TR %Y @A M Uehg odl € Seih I 90 YW w9 e d
3 & dehedll HAi?

Give reason for the following : (2)

(a) Two astronauts, on the surface of moon cannot hear each other’s
sound without using any device.

(b) The screams of the bat cannot be heard by us.
f=fafad 1 SR SarEt-—

(%) <A 1 Gag W T ARG AT TH-TR H1 AES T8l I Fhd|
(@) =WMeE & 9@ e§ g8 =&l <l
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24.

25.

26.

A group of plastics ‘P’ can be remoulded whereas another group of plastics
‘Q’ cannot be remoulded. Based on information given above

(a) Distinguish between plastic ‘P’ and plastic ‘Q’ on the basis of
arrangement of monomers in them.

(b) Also, classify the following as plastic P or plastic Q.

Melamine, Polystyrene, Polythene, Bakelite (2)
wifed & T G9e ‘P’ H1 N el S Tohdl & waih Wifed & @
e ‘Q I IEW & TR S Fehdll FW I T SRR K STER W
(%) s P IR wifes ‘Q d AHTE &I a8 o AHN T AW

e H
(@) 9 FamEn, frfafed & wifes P A1 wiied Q o ®9 ° Jifiehd
oy

Mother gives birth to a baby and the baby has characters of both parents.
Explain the above statement. (2)

A T a= H S @ 2 R W= W W g9 % 01 B g1 ST
FHUA H GHAY|

Mention any two practices to be adopted by adolescents to promote
personal hygiene. (2)

FfRTd =gl i de@l 34 o fay fRell A o9 S arelt fhal
T gensti w1 Ieer@ H

Section-C (@8-TT)

(Question No. 27 to 32 are S.A. II Type Questions)

27.

(a) What happens when a strip of copper is placed in silver nitrate
solution ? Give any one observation.

(b) Which of the following reactions (i or ii) will not occur and why not?
(i) Zinc sulphate + copper — copper sulphate + zinc

(i1) Copper sulphate + iron — iron sulphate + copper 3)
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28.

29.

(%) 0 BIAl € S s 1 Tk Ul hl fHeeX g o Wil W @1 Sl
27 FIE TH AdcRA AU
(@) frefafed § @ = & yfdfean (1 =1 &) & 2 @R =

(31) TS Gehe + HW —» HIR Tohe + TS

(d) HIW Hohe + MTA — AFE TS + HIW

A metal is ignited and it burns with a bright white light and forms a

white powder. The powder dissolves in water to form an alkaline solution.
(a) Identify the metal and white powder.

(b) Write two chemical equations involved during these reactions. (3)

T o7 ! Fedted fehal Sl € 3R I8 THhER WS UIHI oh W1 Serd!
2 SR TH ghE USed ol Ul UMl H el & el aem el

(%) og R HHs USS H1 TEAH Hi
(@) 37 gfdferaieti o S INHd § TEEie e fod|

Give reasons : 3)
(a) Oiling of the axles of a bicycle makes the bicycle move easily.
(b) Spikes are provided in the soles of shoes worn by players and athletes.

(c) Birds and fishes have streamlined shape.
HROT JST—
(%) HEfRd & o W dd o W EEfhd el 9§ T s @l

(@) foenfedl iR werefel gR1 9ed WM At Sl oh doel H e ohmg
S 2
(1) Uik iR wefadl 1 SR geuafied e 2l
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